
12. The pressure that has to be applied to the ends of a steel 
wire of length IO c1n to keep its length constant when its 
temperature is raised by I 00°C is: 

(For steel Young's modulus is 2x to11 Nm-2 and 

coefficient of thermal expansion is 1.1 x 10-5 K -t ) 120141 

(a) 2.2 x 108 Pa 

(c) 2.2xl07 Pa 

(b) 2.2 x Io• Pa 

(d) 2.2 x I 06 Pa 



stress 
12. (a) Young's modulus Y = . 

strain 

stress = Y x strain 
Stress in steel wire = Applied pressure 
Pressure = stress= Y x strain 

Strain= M =at!.T 
l 

(As length is constant) 
= 2 x 1011 x 1. 1 x 1 o-5 x 1 oo = 2.2 x 1 OS Pa 



{ "type": "BusinessCard", "isBackSide": false }


{ "type": "BusinessCard", "isBackSide": false }

